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Which of the following fraction is terminating decimal?

13 13 77 23
== 2) — 3) — 4) —
) 3125 ) 1875 ; 210 ) 225

2) Pedd 5 BwE) s*deroline S8, Qw3d 25 GnY) sPEeroseo KS.
R 036 125 Ging) se8eoste $Dd. 8od o06° 96 ©kE0?

P is the set of factors of 5, Q is the set of factors of 25 and R is the set
of factors of 125 then which of the following is false ..............

1) PcQ 2) QcR 3)RcP 4)pcR
3) x3-x+1% (x-5)3 grAose a’aiﬁa gPISHO0 H0BA5D BRI wnereennnnnnn
The quotient and remainder when x’-x+1 is divided by (x-5) are
1) x*+5x+24 and 121 2) x*-5x+24 and —121
3) x’—~5x-24 and 121 43 —x*-5x—24 and 121
4) 28 S0 5578 o @mé@ Soreed TEPE KVosFBE0’ Kredoth $3Eseso0.. ..
‘A angle and thrice of another angles are supplementary’ represent in equation.
1) x+3y=90 2) x+3y=180 3) 3x+y=360 4) x+y=180

5 BxI-6x+12/3=0 e} %&oBBeso DEED .oviciveinis
The discriminant of the quadratic equation /3 x2 —6x +12+/3 =0 is.......

1) 1243 2) 36 3) 72 4) -108

6 i el
) 1+3+5+........+(2n-1)

n+l n+1

o Fes i n(n+1)
1}2 2) n 3) 5 4) 5 @
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7) AB:YZ=BC:XY=AC:XZ wond AABC% 3875 (84bessso 267
[fAB:YZ=BC:XY=AC:XZ then AABC is similar to
1) AXYZ 2) AZYX 3) AZXY 4) AYZX
GO TN N N I ——
7 24 T 21
g 2) = 3) 57 4) 3
9) If ANB=¢ eowws (then)BNA=.................
1) A 2) B 3) A 4) B!
10) y=x’-4x & $rQoH Bge 50500 B Do)
The point does not lie on the graph of y=x’-4xXis ................
1) (-2,0) 2) (1,0 3) (2,0) 4) (-1,3)
11) E+§=13 Vlalonve! E—iz—Z ONE D ceeeerreriiennn
X W XY
If E+3 =13 and 2 -2 then the solution is .................
X y Xy
-1 -1 -1 1 1 1 11
= == Bl L] @2
)[2’3] }(2’3J J[s’z] )[2 3]
12) (Bobd TS O $Y $20¥Beo0 Sareren THTren HOKD HErTren ©HEran?
Which of the following quadratic equation has real and equal roots?
1) 2x%-4x+3=0 2) 3x°-5x+2=0 3) X’-4x+4=0 4) x?-22x-6=0
13) %eaBEE° 4%, T8 H0ct» 105 Soren SEBe p, g, r OV ...........
The fourth, seventh and tenth terms of a G.P. are p, g, r respectively then........
1) p2=qr 2) i:7t2=a::|2+r2 3) C[zzpl' 4) pqr+pg+1=0
14) oodmdoess Soggd a’ +b’ 88 ¢ +d’ Hbatw d<b<a<c &rHos®
(PR \fal e e e
Ramanujan’s number can be written as a°> +b° or ¢’ +d’
and d<b<a<c then the value of /a2 + b? +¢? =d?  (Seecereverrrenne
L 1) 13 2) 14 3) 18 4) 24 @




15)

16)

17)

18)
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AABC & /C=90° %8050 CDLAB ®wond %:

2
Ina AABC, /C=90°and CD.LAB then B€_

AC: - SERrsEEEREEE RS

B BC AD
L %% %S5 %) tb 4) DB

68°55en (E35008® 5908 Bepodo 15,16, 17, 2x+4, 3x-2, 20, 21, 22 &)
SogHELD 18,5 90D X=.vuirecrrreneee.

[f the median of the data 15, 16, 17, 2x+4, 3x-2, 20, 21, 22 written in
ascending order is 18.5 then x=................

1) 6 2) 5 3) 8 4)7
a cos6+b sinf=4 LH8as» (and) a sind—bcost=3 wand (then)a’+b*=.........
1y 7 2) 12 3) 25 4) Hbsees; None of these

5 Q) $o8ckn 7 Bedne Sndo S0 &rn 50/- ooh 7 2R S0
5 Sodwe Jwdo o Ern 46/- ©®ond o Eodn I ...

5 pencils and 7 pens together cost Rs. 50/- where as 7 pencils and 5
pens together cost Rs. 46/- then the cost of 1 pen is .............

1) Rs. 3/ 2) Rs. 6/- 3) Rs. 5~ 4)Rs. 4/-

BBol TS $saEses0 26? Which of the following is a quadratic equation?
1) (x+1)%=3(x+7)  2) (x=1) (x+3)=(x-2) (x+1) 3) X*+5x-7=(x-4)> 4) x*-9
64=2° @%) SoHEHPS GrDHEm......., Logarithmic form of 64=26is.........

1) log 64=6 2) log 64=2  3)log,64=2 4) log,64=6

7 S0 —1 EFTT 110 S DFODBerve

Quadratic polynomial whose zeroes are i and -1 is..........

1) 4xP+3x-1 2) 4xP-3x+1 3) 4XP-3x+1  4) 4x%+3x+1
Bohards® Bdd $&r8%es0 2987 Which of the following is not a liner equation?
1) 5+dx=y+3 2) x+2y=y-x 3) 3-x=y*+4  4) x+y=0

10-14, 15-19, 20-24,.......885H08" 15-19 $5K58 diHH ©I6.......
In the classes 10-14, 15-19, 20-24......the upper class limit of 15-19 is.....
1) 14.5 2) 15 3) 19 4) 19.5 @
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1) 3. 34D 3D s (BAEE 105 08 coussonsasen
The 10th term of the series3, 3402, 342U iniiie IBrassessenssersranss
1) 3+942 2) 3+10+2 3)3+42  4)3-2

25) 0, fen SHrerenreie SEEDEG00 X +ax+12=0 HBcw 0-P=1 vowd a=...
If o, B are the roots of x*+ax+12=0, such that a—f=1 then a=...............
1) 7 ) =T 3) *1 4) +7

26) If AABC ~ ADEF. BC=3cm, EF=4cm 560 (and) ar(AABC)=54cm’
wond (then) ar(ADEF)=................
1) 66cm? 2) 79cm? 3) 100cm?  4) 96cm?

27) tan?60"+ 4c0s?45° + 3sec?30° + 5c0s290° = ................
i ) L i 2) 8 3) 9 4) 10
28) 2.8 By Ko Botd J6ith HothhHos’® PoBoDS TRAR......cvvvvn. 0ETE)
A line which intersects the given circle at two distinct points is called a.......
1) §)%)0®; Tangant 2) 3e550; Secant 3) Ho; Circle 4)Eo\%o; Centre
29) S8 ‘n’ Sear Sogye ETOEEDD verrinrnnns
Mode of the first *n” natural numbers is ...............
1) “T“ 2) n(n+1) 3) nt1  4) drkDoBHesed; does not exist
30) cosA N | +sinA _
l+sinA cosA

1) 2 cosecA 2) 2tanA 3) 2cotA 4) 2 secA
31) B ‘0’ BolBorriie N8 AB, AC éo)tﬁdaaam

[A=60° ®od OB=........... 0. 8.

A 12em. 0
In the adjacent figure /A=60"and AB, AC

Y are tangents then OB=.................. cm.
6
1) 63 2) 6 3 % 4) 62

32) x2+bx+c S5 (x—1) 50865 (x+2)en s*8erosPen ®and bte=.......ce.....
If x*+bx+c has factors x—1 and x+2 then b+c=................

1) 3 §j -8 3) 1 4) -1 @
/)
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33)

34)

35)

36)

37)

38)

‘P’ ) @ S DendH px+3y—(p-3)=0 HBcsn 12x+py-p=0 3%
0BG 23% 0508 JSben Goron?

For what values of ‘P* px+3y—(p-3)=0 and 12x+py-p=0 are pair of
linear equations have infinitely many solutions?

1) 3 2) 4 3) 5 4)6
x*—(K+6)x+2(2K-1)=0 5508860 @) Horrere Indsm 8 Lwrere
0g08° FrENIH SEPILD @S K=o,

If the sum of the roots of the equation x*~(K+6)x+2(2K-1)=0 is equal
to half of the product, then K=.....................

1) 6 2) 7 3) 1 4) 5

~3+6-12+24-48+......... BBS° nS Hso
In n' term of the the series —=3+6—124+24—-48+......is

R 2) 3.2™! M i o L T W (L g

6 . Bt 11 . VeEHe Sogfoen .8 SHFS Jop Eu. Jop ©
Toth Kogioe eothih gritane a’mﬁétﬂﬁém 12 $b. e@ond & 8ok Sogiow
Periion gy EPBED vreiiianannnn .

Two poles of heights 6m. and 11m. stand vertically on a play ground.
If the distance between their feet is 12m. then the distance between
their tops IS .cveeverveeeeennn. m.

1) 14 2) 15 3) 13  4) None of these; d&s°tH

i.,.% _ 7 SoBckw ax-by=a*-b? BB PHD uvvicesnniins
a

Solution of * ;¥ _5 and ax-by=a’-b? is................
a b

1) x=-a,y=-b 2) x=-a°, y=—b2 3) x=a,y=b  4) x=a, y=b2
(Bob SErodhin @wE) @osHHdn 3.55 wond p e ......
Find the missing value of p from the following table when A.M. is 3.55

x; |1 [ 2] 3[4 5][6s
E (s ol P |16] 9 (8

7,
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39)

40)

41)

42)

43)

44)

45)

46)

0, B, ren p(x)=ax*+bx*+cx+d ©F 25058 @B BITGED BOWD

_1..+ l_.. I e If 0, B, T are the zeroes of the polynamial

a By X 9
p(x)=ax’+bx*+cx+d then E+_+§ R

B
0T 2 3) < 4=
13sinB+5sech
5tan0+12 cosecO

13sin6+5sec®
5tan@+12cosecd

---------

‘0 435 DSBS Eeadn SO cosﬁ=% ©onS

If °0 is in the 4th quadrant and cos = % then

5 -12 7 =1
V43 233 ) 25 Y 25

A={S&dperen ), B={5%050, H85&5H0, [BHBAHO, Toad)
Bod TS° DB HgEn?

A={quadrilaterals}, B={square, rectangle, trapezium, rhombus}
Which of the following is true?

1) AcB 2) BCA 3) A=B  4) None of these; 285D

If log XP—5x+7=0 o0 (then) X=..............
1) 3;2 2) 3,-2 3) =-3,2 4) -3, -2
28 ©o8BE N Srre o 2n’+5n oS & WoSB NS SEKw. ........

If the sum of “n’ terms of an A.P. is 2n?+5n then n term of an AP, is....

1) 4n-3 2) 3n-4 3) 4n+3 4) 3n+4

‘P’ Gk D DewS 4x7-2px+7=0 58860 5B 58 Gotnob.

The value of P for which 4x?~2px+7=0 has a real root is...................

) P>2y7 2) P>/7 3) P>5 4 P>f3
1
If sinB=K e@ans (then) sine{l_ ] J_

1- cnsz_ﬁ

K K K
0 = 2= 3) E-1 4) None of these; D8s°t%H
2.8 DIVBE ErSDens ‘73 DS © BIVBB PX)=errrenen.

-3
If 5 is the zero of the polynomial then p(x)=......c.ccoceuee.

1) 3x+2 2) 3x-2 3) 2x+3 4) 2x-3 @
A
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47)

48)

49)

50)

Bo& %‘é:a’a;éé Degresdain s SoeisHEEn Xed?

The median of the following frequency distribution is

----------------

Lo gﬁiﬂf’g’zﬁa 60-64 | 65-69 | 70-74 | 75-79 | 80-84 | 85-89

B 3 | 28 | 35 | 12 9 3
quency

1) 70.78 2) 70.73 3) 70.98  4) 70.88

é?&@ ESImiN ﬁomé Fislalevsy) é&‘\);’g_ Sodins éoa}éez .. 19, H0B8a%n

B.ap. g0 e::ega‘iaa .................

The product of L.C.M. and H.C.F. of the least prime and
least composite number is...................

1) 2 2) 4 3) 6 4) 8

2.8 ésg}zﬁe‘_"aﬁ&ﬁéw SwE) PEDH, IBenen SHIe X, V. &qdnzﬁet’wé@a’m
S0 9 Snahoen SHoLEI0. TR FPED) 5 crrdéy SAod HHdcke
Benyd 3 chrdéy oD DB SdoEbwo

The length and breadth of a rectangle are x.y respectively. The area of
the rectangle gets is reduced by 9 square units, if its length is reduced by
5 units and breadth is increased by 3 units. Then the equation we get is...

1) x+3)(y-5)=xy+9 2) (x-5)(y+3)=xy-9 3) (x-5) (y+3)=xy+9 4) 5x+3y=9

-----------

A ©38 “RAMANUJAN MATHEMATICS CLUB”&* egssve
308, B «dd “SALUR’S® offive D208, D20dm C o368
“RAJANIKANTH"&® eggine $08. A,B,C $50He 52856 Soggen
@é%éﬁ)e‘ﬁ Serodo @Y HodoTroTenr wond T8 SoggHEtn Sk
Sifene A

‘A’ 1s the set of alphabets in ‘RAMANUJAN MATHEMATICS CLUB’,
‘B’ is the set of alphabets in ‘SALUR’, ‘C’ is the set of alphabets in
‘RAJANIKANTH’. If the cardinal numbers of the sets A,B,C, are the
observations of an ungrouped data then the ratio of their median and
RO 17 0 v

.................

1) 8:9 2) 9:8 3) 13:11 4) 11:13




